

$$(1 + \frac{1}{2} + \frac{1}{4} + \dots)(1 + \frac{1}{2} + \frac{1}{4} + \dots) = \dots \quad (2)$$

$$(1 + \frac{1}{2})(1 + \frac{1}{2}) = 4$$

$$\sqrt[4]{(1+\sqrt{2})^4} \times \sqrt[4]{(1+\sqrt{2})^4} = \sqrt[4]{\frac{1}{1+\sqrt{2}}} \times \sqrt[4]{\frac{1+\sqrt{2}}{1+\sqrt{2}}} = \sqrt[4]{2}$$

$$\frac{1+\sqrt{2}}{1+\sqrt{2}} \times \frac{1-\sqrt{2}}{1-\sqrt{2}} = \frac{1}{1+\sqrt{2}} \times \frac{1-\sqrt{2}}{1-\sqrt{2}} = 1$$

پایین ص

$$\frac{1+\sqrt{2}}{1-\sqrt{2}} \times \frac{1}{1-\sqrt{2}} \times \frac{1+\sqrt{2}}{1+\sqrt{2}} = \frac{1+\sqrt{2}}{1-\sqrt{2}} \times \frac{1+\sqrt{2}}{1+\sqrt{2}} = \frac{1+\sqrt{2}}{1-\sqrt{2}}$$

$$\frac{1+\sqrt{2}}{1-\sqrt{2}} \times \frac{1+\sqrt{2}}{1+\sqrt{2}} = \frac{1+\sqrt{2}}{1-\sqrt{2}}$$

$$\frac{1+\sqrt{2}}{1-\sqrt{2}} \times \frac{1+\sqrt{2}}{1+\sqrt{2}} = \frac{(1+\sqrt{2})(1+\sqrt{2})}{1-\sqrt{2}} = \frac{1+\sqrt{2}+\sqrt{2}+2}{1-\sqrt{2}} = \frac{3+2\sqrt{2}}{1-\sqrt{2}}$$

$$\frac{1}{1-\sqrt{2}} = 1+\sqrt{2}+\sqrt{2}+2 = 2\sqrt{2}+3$$

$$\frac{(\sqrt{1+\sqrt{2}} + \sqrt{1-\sqrt{2}})(\sqrt{1+\sqrt{2}} + \sqrt{1-\sqrt{2}})}{\sqrt{1+\sqrt{2}} \sqrt{1-\sqrt{2}}} = \sqrt{\frac{2(1+\sqrt{2})}{1-\sqrt{2}}} = \sqrt{\frac{1+\sqrt{2}}{1-\sqrt{2}}} = \sqrt{(1+\sqrt{2})^2} = 1+\sqrt{2}+2 = 3+\sqrt{2}$$

$$\sqrt[4]{2} \times \sqrt[4]{2} \times \sqrt[4]{2} \times \sqrt[4]{2} = 2^{\frac{1}{4}} \times 2^{\frac{1}{4}} \times 2^{\frac{1}{4}} \times 2^{\frac{1}{4}} = 2^1 = 2$$

$$\frac{1+\sqrt{2}}{1-\sqrt{2}} = \frac{1+\sqrt{2}}{1-\sqrt{2}} \times \frac{1+\sqrt{2}}{1+\sqrt{2}} = \frac{1+\sqrt{2}+\sqrt{2}+2}{1-\sqrt{2}} = \frac{3+2\sqrt{2}}{1-\sqrt{2}}$$

$$\frac{1+\sqrt{2}}{1-\sqrt{2}} = \frac{1+\sqrt{2}}{1-\sqrt{2}} \times \frac{1+\sqrt{2}}{1+\sqrt{2}} = \frac{1+\sqrt{2}+\sqrt{2}+2}{1-\sqrt{2}} = \frac{3+2\sqrt{2}}{1-\sqrt{2}}$$

$$(a^2+b^2)^2 - (2ab)^2 = (\sqrt{2}-1)^2 + (\sqrt{2}+1)^2 - 2\sqrt{2} = (2-2\sqrt{2}+1) + (2+2\sqrt{2}+1) - 2\sqrt{2} = 4-2\sqrt{2}+2+2\sqrt{2}+2-2\sqrt{2} = 8-2\sqrt{2}$$

$$(1+\sqrt{2})^2 = 1+2\sqrt{2}+2 = 3+2\sqrt{2}$$

$$(a+\frac{1}{a}+\sqrt{2})^2 (a+\frac{1}{a}-\sqrt{2})^2 = 1^2 \quad ((a+\frac{1}{a})^2 - (\sqrt{2})^2)^2 = 1^2$$

$$\sqrt{1+\sqrt{2}} = \sqrt[4]{2}$$

$$A = \sqrt[4]{1+\sqrt{2}} \quad r^{\frac{1}{4}} = (\frac{1}{r})^{-\frac{1}{4}}$$

$$10\sqrt{2} \Rightarrow r^{\frac{1}{4}} \times r^{\frac{1}{4}} = r^{\frac{1}{2}} = \sqrt{2} = 1.414$$

$$(r(r))^{\frac{1}{4}} = \sqrt[4]{\frac{1}{r}} = \frac{1}{r}$$

Subject:

Year:

Month:

Day:

$$\sqrt{a} = \frac{1}{\sqrt{a}} \Rightarrow 1 = \sqrt{a} \times \frac{1}{\sqrt{a}} \Rightarrow \frac{1}{\sqrt{a}} = \frac{1}{\sqrt{a}} = \frac{1}{\sqrt{a}}$$

$$\frac{(1+\sqrt{a}) \times (1-\sqrt{a})}{(1+\sqrt{a})(1-\sqrt{a})} = \frac{1-\sqrt{a}^2}{1-\sqrt{a}^2} = \frac{1-a}{1-a} = 1$$

$$\frac{\sqrt{a+a} + \sqrt{a-a}}{a} = \frac{\sqrt{2a} - \sqrt{0}}{a} = \frac{\sqrt{2a}}{a} = \frac{\sqrt{2}}{\sqrt{a}} = \frac{\sqrt{2}}{\sqrt{a}}$$

$$A+B=1 \quad A-B=1 \quad A=B+1$$

$$A+B=1 \quad A-B=1 \quad A=B+1 \quad B=\frac{A}{2} \quad a=1$$

✓

$$\underbrace{(\sqrt{2-\sqrt{5}} - \sqrt{2+\sqrt{5}})}_b$$

ج. ۲

$$b^2 = 2 - \sqrt{5} + 2 + \sqrt{5} - 2\sqrt{9-5} = 2$$

$$b^2 = 2 \rightarrow b = \pm \sqrt{2}$$

$$\boxed{b = -2}$$

$$a = \frac{\sqrt{2} + \sqrt{5}}{\sqrt{1} + 2} = \frac{\cancel{\sqrt{2}} + \sqrt{5}}{\sqrt{2}(\cancel{\sqrt{2}} + \sqrt{5})} = \frac{1}{\sqrt{2}}$$

$$a = \frac{1}{\sqrt{2}}$$

$$\boxed{ab = -1}$$